MORE PRACTICE SHEET 1

1. bx-3=2x+6 x=3
2. 6x+2 =35 x=55
3. 8+35x=395 x=9
4. 6x+10=2x-12 x=-b5b
5. 2x+22=10x+4 x=15
6. 156x +1=5x+ 26 x=2b5
7. 4(x + 3)=12(x - 3) x=6
8. 40-3x=3b+x x =125
9. 6(x-5)=12 x=7
10. 7x+28=11x+1+2x x=45

MORE PRACTICE SHEET 2 ANSWERS

1. Bx + 6 = 20 + 1.bx X=4
2. 6(x +2)=17+x x=1
3. 8-4x=12 x = -1
4, 3(x+5H)=2(x+12) x=9
5. x+22=10x+4 xX=2
6. 15x +1=5x+ 31 x=3
7. 4x +30=3x+3 +9x x:3§
8. 19 - 4x = 39 x=-bH
9. 6x-5=2x+35 x =10

MORE PRACTICE 3: Solving Linear Equations

Part 1

[114[2]-7([3]1[4]13[5]6[6]-2([7]1-4([8]7

Part 2

[9]1-3[10]-1[11]-6 [12]8 [13]2 [14]18 [15] -5 [16] -13
[17]1-21[18] 8 [19]-4/7 [20] 51/3 or 16/3

MORE PRACTICE 4
Az B:5 C43D22 E 28/25 F: 28/25 6: 28/25 H: -21/10



